EARAROBEEIERT — 2 N— IBISH —F

20145128148 (H) 17E1A%E6H

INMC2—9# C2 ¥#5%R3m®L B R
[AE£] 1% :110,000"  23%&:2500M”  33%&:10,000 M  43%&:6,000 3 ~ 53 :3,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1111 | A7 rkxUF> # o3 | I 1:33.0 1--1-1 405 | — | 5 | 462 |BEZAE (EH)
. (_) . b 4]
LAVF YL IR B EA MR L 2 1k mx
— 5 f 3 | BERt 1:33.3 4-4-3-2 | 40.4| — 1 470 | =HEE (ER)
205|5 ;\';7(;"-_'7:7'4/_ o 54.0 (11/2) (46) | B H. TI—RKL—va
: ILYR—L B:ZXh-—Lvy bhUFE TS
o =HHIEA : —7-5- — Z/EEAN (ER)
LAY INT— i3 s 1.(3;).3 7-7-5-4 | 41.0 3 ‘2(6)? VA\/E]\IE: =
LN=v0714 By Uv—H-T> RIEHS
-2 S # 3 | HBIER 1:34.8 5-5-6-5 |41.5| — 7 452 | WIEZEA (£H)
-/ 7°V )a—FR 54.0 (2 1/2) (-9) BAET
R:BALINT Ry IR BNTTF4F I 4535
L - _ # 3 | WO 1:34.8 3-3-4-3 |41.9| — 2 502 | ABM®RK (1EH)
ILZTVLRA 56.0 (2 E) (2) | BEAR
RixALI=ZTr7—R B:IIIVHLILZT LA BRT7—L
s =S i 3 | TER 1:35.7 2-2-2-6 | 43.0| — 6 429 | WHEFEA (1£H8)
IA3AIZTI 540 o > |semwn =
RTFRRA Y L= BkT RTIN—IS— K FE &
> e B4 | REHEER 1:36.9 6-6-7-7 |43.4| — 4 446 | EBTIE (ER)
71717 J)—=2 K1) =L 54.0 6 FHOAH
QO-I sur @AY © 00 |k =i
® I —F—EBIERL
13—F— 1,2,3,5,6,7,4
2ol=7r= 1,2,3,5,6,7,4
Jol=5r= 1,2,5,3,4,6,7
43—F— 1,5,3,4,6,2,7
[ N3
H OB 1 1,740M 714K 1-5 370M B = 1-5 1,230M 3EHE 1-4-5 1,370H
8 B 1 190M 1-4 280 B H 1-5 4,790/ K31 1-5-4 18,150
5 120/ 4-5 230M

ABICOVWTRDTEEERROODE. TR LIV,




